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Lucy the cow normally eats 2470g of grass each day. She goes on a diet, deciding to eat 26g less grass each day. If she starts to exercise, she has also calculated that for each 10g of grass she eats in total, she will loose 1g of body fat.  She is smart – for a cow

1) Make a table of amount of grass eaten, total grass 
& total weight loss for the first 5 days of the diet.



2) When will she eat nothing?

3) What will her total weight loss be?
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Arithmetic Applications










































































Applications  Ex 26.04
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